Aufgaben zusammensetzen
Ubungen

Setze die Aufgaben zusammen und rechne:

712 .=
471 .=
6] (3 .=
776 .=
9] [7 .=
772 .=
10| [ 3 .=
7176 .=
7116 .=
6 1 .=
10| [ 5 .=
873 .=
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Aufgaben zusammensetzen
Losungen

Setze die Aufgaben zusammen und rechne:

7-2=5
7112 7-1=6
471 4 - 2 =2
4 -1 =3

6 -3=3

6] [3 6 -6=0

7176 7-3=4

7-6=1
9 -7 =2
9] [7 9 -2=7
7172 7-7=0
7-2=5

10- 3 =7

10/ [3] 10- 6 = 4

7176 7-3=4

7 -6=1
7-6=1
7116 7-1=6
6 1 6 -6=0
6 -1=5

10- 5 =5

10/ (5] 10-3 =7

8173 8 -5=3

8 -3=5
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	Minus

